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Math201.15, Quizzes # 3 & 4. Term 181
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Good luck,

lbrahim Al-Rasasi
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1. [5 points] Find the local max/min values and saddle points of

f (x,y) = Zxz + yn + 4xy - 2.

2. [5 points] Find the extreme values of

f (x,y,z) - (x - t)' + (y - D2 + 2@ + t)z

subjecttotheconstraint x2 +y2 *222 =7.
3. [4 pointsl Set up an integral for the volume of the solid that lies under

the graph of z = x2 + 4yz t B and above the region R (inthe xy -
plane) bounded by the curves x*y--Landx2 +y = 1. Do not
evaluate the integral.

4. [4 pointst Evatuate f: fil+ dx dy.
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